mean # PXL hits vs eta

<pixel hits>

Ratio

=

0.95

10 12 3
n

3

| mean # PXL Layers with measurement vs eta

3

<pixel layers>

2.5

2

15

1

0.5

3.5

.....................................................................

Ratio

=

0.95

10 12 3
n

32

meal

n # STRIP hits V|

<strip hits>

Ratio

1.

0.95

12}

10f

—=— DQM _original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

-phasel-

—— DQM_pixelCPEANdChi2_step2_ttbar

O

7

<strip layers>

6

newgeom

.....................................................................

Ratio

2 3



	Contents
	Page 1


